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it & it VR

F1 EEARREZE LSRRI TR U ERR.
(DROE], %AB//CDJr HPEAB. CDHEE, «B =50°, 2D = 30°, 3K
/BPD.

A CES=



f: weP1, FPE%4EPO//AB,

- AB//CD,

~» CD//PO//AB,

s ZBPO = «£B, 20PD = 2D,

+ 2BPD = ~2BPO + 20PD,

s 2BPD = 2B + #«D.

+ 2B =50° 4D = 30°,

» /BPD =2/2B + «4D = 50° + 30° = 80°;

EREAFR



il & if IR

(Q)UNE2, 1£AB//CDRIRIRT, B=PREIAB, CDYMEB, T

/BPD. +B. +DZB/EA#EXZK? FIERIRBEL
f#: B =+2D + 2BPD,

- AB//CD,
;. /B = /BOD,

+ 2BOD = 2D + 2BPD,
/2B =2D + 2BPD:

A CES=



il & if IR

OYWNER, EXsA + 2B+ 2C+ 2D + 2E + <Fy,
fF: - 2CMN = 2A + 2E, zDNB = 2B + /F,

¥= 360°.

X 2C+ 242D + 2CMN + 2DNM = 360°,

LA+ 2B+ £2C+ 42D + 2E + 2F = 360°.
WEEH: 360°.

A CES=



Fl2.(OENEL, B40AB//CD, 2AEP = 40°, ,PFD = 110°, 3K<EPFHYEZL.

. 3 KEPXCDT LG, A L B
~ 2.AEG = 2PGF = 40°, e F P
~ /PFD = 110°,

~ .PFG = 180° — ~PFD = 70°,
-+ ,.EPFZ /A PFG#—A4M A,

. .ZEPF = /PGF + «PFG = 110°,
- «EPF&) Z 3% 7110°;

A CES=



il & if IR

(aNE2, AB//CD, mPEABHILETS, [B)2PEA, £PFC, ,EPFZ[EE1A
EXZR? FHBEER;

f%: +PFC = «PEA + 2EPF, ME

Pl whE: ZABEPFE T &M, AN B
- /\PMA&Z /A PME# —A~3 A, - \F 5
~. /.PMA = /PEA + 2EPF,

-+ AB//CD,

~ /<PMA = £PFC,

- /PFC = 2PEA + 2EPF:

A CES=



GME3, EQHIKMHET, SXI12EPF = 60°, ZPEARYYES 242 PFCHY
SEOERATTRG, RAGHIEEL

A CES=



. BQ)YTiF:

/PFC = «PEA + 2EPF,

.. /EPF = 4PFC — 24PEA = 60°,

-+ EG-F% 2AEP,FG-F % 2PFC,

* ZGEA = - AEP, £GFC = - 2PFC,
H(2)4:

/GFC = 2G + 2GEA,

s £G = 2£GFC — 2GEA

EREAFR



it % i R R
1 1
=3 £PFC — 5 £AEP

= %(APFC — /AEP)
— 1 x60°
2
~ 30°,
s 2GR 3 A30°.



il & if IR

{73.90[E], AB//CD, REAMEZZIE—R.

(DANE1, &2£BAE = 35°, 2DCE = 20°, M£AEC = 92 -;
fi#: 55°

4o B B 7=, it % EAFEF//AB,

-+ AB//CD . AB//CD/ /EF,

& /BAE =2+21,2ECD = 22,

s /AEC=21+ 22 = #/BAE + 2ECD = 35° + 20° = 55°,
B FE A55°.

A CES=



B TR —————————————————
QUNE2, i15¢88, 2BAE + 2AEC + 2ECD = 360°;
fi#: B, T EE/EG//AB,
-+ AB//CD . AB//CD//EG,
~/A+21=180°2C+ 22 = 180°,

S /ZA+ 21+ 22+ 2C = 360°,
PP ~BAE + 2AEC + 2ECD = 360°.

EREAFR



it & it VR

G)YDINE3, B 2£BAEIFES S 2DCEREDRIBAET 2, FIKT
¢AECHZAFCRHIHEXR R, FHiEAHE
QUE4, &i&/E = m, 2BAF = ELFAE, /DCF = %AFCE, ==

I

—S

EASEm, nfIHEURRLFRIESL

A CES=



fid: 1D22£AFC + 2AEC = 360°, ® {4 TF:

8 (1) 4%, 2AFC = ~BAF + 2DCF,

-+ AF-F % 2BAE, CF-+ % 2DCE,

s /BAE = 2/BAF, 2DCE = 22DCF,

- /BAE + ~DCE = 2/AFC,

H(Q2)T 4, 24 @AE + 2AEC + «DCE = 360°,

:. 2/AFC + 2AEC = 360°.

@ w4 £F + LFAE + £E + 2FCE = 360°,

+ /BAF = %,LFAE, /DCF = %LFCE, /BAF + +DCF = /F, -«

EREAFR



* £F = = (FAE + £FCE),
s LFAE + 2FCE = nZF,
. «F + 2E + nzF = 360°,

~(n+1)2F = 360° — 2E = 360° — m,
360°—m
n+1

s LF =

*«

EREAFR



f5l4 gNEl1, AB//CD, /=P, Q7 BIEAB, CDL, REfEAB, CDXZJH].

*

1E#%PE, QE, PE 1 QE.

A P g A P B A P B

/E H\}E %ﬁf

c Q D CQ\/ P o D
G

af 42 43
(WDEESH/BPES/DQEMEEXREK N  JEHKPERZRCDTAF,
+PE1QE, ~«PEQ=90°, - AB//CD, . #«BPE = #PFC,

-+ /PEQE2 QEFEY—"1YMA, - 2PEQ = «DQE + 2PFC = 90°,

- «BPE + 2DQE = 90°, ; ﬁ;a




f#: 3 KPEXCDT &F,

~ PE L QE,

-~ ZPEQ =90°,

~ AB//CD,

s ZBPE = 2PFC,

-+ .PEQRA QEF#9— AN A,

- ZPEQ = «2DQE + 2PFC =90°,
. .BPE + 2DQE = 90°,

EREAFR
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